[15-112] Lecture 5

Congrats on finishing your first quiz!



oeon - Lecture 5 Poll 1 (SOLO)

What is the output of the following code:

. A. stV
game = Lost B ost V
Vikings' C: iking
print(game[2:-6]) D st Vi
E. Viking
F. I don't know




soeon - Lecture 5 Poll 2 (GROUP)

What is the output of the following code:

. A. stV
game = Lost B ost V
Vikings' C: iking
print(game[2:-6]) D st Vi
E. Viking
F. I don't know




Lecture 5 Poll 2 (SOLO)
What is the output of the following code:

a = '12345"
b = a[5:]
print(repr(b))

A.
B.
C

D.

¢ b

It will crash with
a Syntax Error

It will crash with
a Runtime Error

I don't know



Lecture 5 Poll 2 (GROUP)
What is the output of the following code:

a = '12345"
b = a[5:]
print(repr(b))

A.
B.
C

D.

¢ b

It will crash with
a Syntax Error

It will crash with
a Runtime Error

I don't know



